INTERMEDIATE EXAMINATION - 2023 (ANNUAL)

Model Set

Business Studies (Elective).

Subject Code :- 217

AT IS 3reuaq (Vfesd) oI — 100

l.Com. Full Marks -100

JHI— 3 G 15 A
Time:- 3 hours 15 minutes

6l UL DI AT : 100 + 30 + 8 = 138
Total no. of questions : 100 + 30 + 8 = 138

gherfefalt’ & fore [Ador —

Instructions for the candidates :-

1.

wRienfi OMR SR U3 UR (0T U YRABT HHID (10 3l BI) ALY
fored |

Candidate must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

oRleTTeff ALY 37U TRl H T IR G |

Candidates are required to give answers in their own words as far
as practicable.

TR ol TR W RY gy oie e Ffde e §

Figures in the right hand margin indicate full marks.

gedl P SMYdd UG & oy uReiidl w1 15 e @1 ifaRed |wd
fe=m T 2

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.
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g U3 GRHT a1 Wusl H 8, WUs—3 Ud EUs—4 |

This question booklet is divided into two sections: Section-A and
Section-B.

Gus—3 H 100 TS U 8, OH 9 fb=gl 50 YAl BT SR <Al
AfEard 21 50 § 3w Yol & IR o W UH 50 BT B HAIDA

ERTT | U¥D U & folv 1 3 FiRa 8| S9dT SR 39 & folv SuaTe

PR T OMR SR—U7% H U T AE g Bl el /Blel dicd U9 4
W P N IR & FEeR/RA WRR /oI /AGA fa &

STR—YRTDT H YANT HRAT F1 &, AT el aiRomd 3= 81T |

In Section-A, there are 100 objective type questions, out of which
any 50 questions are to be answered. If more than 50 questions
are answered, then first 50 answers will be evaluated. Each
question carries 1 mark. For answering these darken the circle
with blue/black ball pen against the correct option on OMR Answer
Sheet provided to you. Do not use Whitener/liquid/blade/nail etc.
on OMR Answer -Sheet, otherwise the result will be treated

invalid.

Yue—q H 30 g I U T | TS U & fou 2 s feiRa g,
75 A fbgl 15 Yool &1 SR <1 Af+ard 8| g9 IR, 39 WS
d g A Sw e Y W E udS ued & fow 5 ofe iR g

8 9 58l 4 U9l &7 IR <1 At 2|



In Section-B, there are 30 Short answer type questions, each
carrying 2 marks, out of which any 15 questions are to be
answered. Apart from these, there are 8 Long Answer type
questions, each question carrying 5 marks, out of which any 4

questions are to be answered.

8. Pl TR & Selaid IUSIIT BT SKIATA guiadm afid g |
Use of any electronic appliances is strictly prohibited.

Section — A/Egvs—31

geqfss 939 / Objective Type Questions
U9 G&IT 1 W 100 db b Ydd U b I IR fdweu fer v & foFd |

g el 2| fgl 50 Ul & SR UM §RT g Y el fadhey & OMR—¥e W
fRrfed oV | 50 x 1=50

Question No.- 1 to 100 have four options, out of which only one is
correct. Answer any 50 questions. You have to mark your selected option on
the OMR-Sheet. Each question carries 1 mark. 50x 1 =50
1. IS U6 & JImR § —

(A) A% Zifa (B) iR

(C) a1y shifc =Tel (D) SWRIaa |

The essence of scientific management is :

(A) Mental revolution (B) Remuneration

(C) No mental revolution (D) All of these



Jefe =T @it & ©

(A) TeT H (B) fauer #

(C) < (D) ©ETd®

The scientific managementis ................ of owners.
(A) In favour (B) In Against

(C) Both (D) Helpful

U] BT ARG STRGIIW © -

(A) w4l & ufey (B) waRa} & ufdy
(C) &R & ufd (D) AT & Ufd
The social responsibility of management is :

(A) Towards all (B) Towards employee
(C) Towards Govt. (D) Towards society
T BT IR B

(A) oI (B) T3

(C) wIftbar (D) for=m

The essence of management is —

(A) Co-ordination (B) Organisation
(C) Staffing (D) Controlling
A Xfud fhar ST ® -

(A) STadH WR B Ud gRI (B) 7&¥ =R & U= g

(C) /1 ¥R & Ua=I K (D) g7 9 fosdl & gRT =18



Co-ordination is established by :-
(A) Top level management (B) Middle level management

(C) Lower level management (D) None of these

g ¥ DI IS dTaraRol BT el el & ?

(A) St (B) SH¥am

(C) Hveerdr (D) sfste

Which of these does not characterize business environment ?
(A) Uncertainty (B) Employees

(C) Relativity (D) Complexity

TS dTaTaRYl AGG gl Hedl ©

(A) aren (B) Jra<R

(C) Hare= (D) ffe=radr
Business environment does not help :

(A) Barrier (B) Opportunities
(C) Resources (D) Certainty
IR H ISSRIHROT & ANy 28T 8

(A) STpet (B) st

(C) ferey: bl (D) s & ®1g &
Liberalisation Policy in India has been :

(A) Successful (B) Unsuccessful

(C) Partially Successul (D) None of these



10.

11.

12.

I b AP ATATIRYT BT YHIfAT Bl © -
(A) e yomen (B) ITRI®RT
(C) dediaxor (D) fsfiexor

Economic environment of business is influenced by :

(A) Economic system (B) Liberalisation

(C) Globalisation (D) Privatisation
TS 8 —

(A) Se—rfadt (B) Sezu—aifrgRdl

(C) wr=ifes ufshar (D) T =

Planning is :

(A) Goal-oriented (B) Objective oriented
(C) Mental process (D) All of these

= § & o A I s & w® e @ °?
(A) gfepar (B) ST
(C) 32 (D) =R

Which of the following method completes work ?

(A) Process (B) Industry

(C) Object (D) Trade
RIS et & —

(A) FIT BT B ? (B) ®9 d_AT & ?

(C) ¥ F_AT & ? (D) & |



Planning involves —
(A) What to do ? (B) When to do ?
(C) How to do ? (D) All of these
13, <o wa: (i gar € —
(A) ferarcae (B) 3Fg=Ra
(C) airo=mRa (D) fawmira
Organisation is automatically formed ;-
(A) Functional (B) Informal
(C) Formal (D) Divisional
14, JATGEITEN AfTHR SR & foly ITReI@ & ATl Iffdeaedd &
(A) 31ferprR (B) #r1a wrfda
(C) Urcarg= (D) ur=fa
For effective delegation, responsibility is necessary with —
(A) Authority (B) Man-power

(C) Incentives (D) Promotions

15.  PHAIRG] B T W Y oar g —

(A) 3NT=TRS HITS (B) aTu=nRes e

(C) fraretss e (D) 38 ¥ I3 &1
Depends on the sweet will of employees :-
(A) Formal Organisation (B) Informal Organisation

(C) Functional Organisation (D) None of these



16.

17.

18.

19.

SRS e B a9 H TG Bl § -

(A) Rrafea (B) fea

(C) ¥w = v ¥ faaRa (D) 31 ¥ B =l
In case of informal organisation, authority is :-

(A) Decentralised (B) Centralised

(C) Equally distributed (D) None of these

AfTPR BT SR 81 {HAT o1 AhdT 8 —
(A) < B (B) &Rl BRI
(C) kel Brd (D) Mo R

Authority cannot be delegated of :-

(A) Routine work (B) Ordinary work
(C) Easy work (D) Confidential work
freror @ fafdet 8 —

(A) BRI Tl gfdreror (B) ®RI WR ufdreror
(C) ufereromefi uftetor (D) T &+t

Methods of training are :-

(A) Job rotation training (B) On the job training
(C) Apprenticeship training (D) All of these
frifa # & o fFrgfaaeer & afafeaa T8 € 2

(A) =g (B) ufdreror

(C) Hamer (D) g&T=ifer



20..

21.

22.

What is not included in the staffing ?

(A) Selection
(C) Directing

o\

FRIfaRTahRoT &l Hee © —

(A) 739 ¥

(C) SuH W

The staffing is related with :-
(A) Persons

(C) Tools

fdepry @1 fafedl & —

(A) U8 TUR

(C) &1 &1 fawmr

Methods of development are :-
(A) Position rotation

(C) Development of work
e & @ § —

(A) TIderor

(C)

Elements of direction are :-
(A) Supervision

(C) Leadership

(B) Training

(D) Promotion

(B) ATeT ¥

(D) &=l |

(B) Goods

(D) Machines

(B) 3IcUadTel™ UTGashA

(D) T =+t

(B) Short term syllabus

(D) All of these

(B) tfHuRoT
(D) T =+t

(B) Motivation

(D) All of these



23.

24.

25.

26.

T SRl BT ofdl § -
(A) T & (B) 0= ¥
(C) eI B (D) 37 & g &I

The leader takes work from his subordinates :-

(A) By tact (B) By Stick

(C) By threatening (D) None of these
forder & —

(A) SFeeaTdr (B) fRsare=—arfge
(C) FR=R b (D) & =l
Direction is —

(A) Pervasive (B) Performance-oriented
(C) Continuous Activity (D) All of these
TideTds HHATRAT BT ... g -

(A) 1 (B) wfaeie

(C) Srifa® (D) T =
Supervisoris .............. of the employees :-

(A) Friend (B) Guide

(C) Philosopher (D) All of these

IS FgAed H 99T BT SUANT &l BT a1y —
(A) e (B) w4
(C) U (D) =meii

10



27.

28.

29.

In effective communication, language should not be used:-
(A) Express (B) Impressive

(C) Ambiguous (D) Courtesy

=0T U &7 U8l & —

(A) Sgrf~n (B) @maEIRe®
(C) 7t (D) s
Controlling is the aspect of management :-

(A) Theoritical (B) Practical

(C) Mental (D) Physical

gorey] fRIg=I01 gavy & -8l & —

(A) rd (B) fewm

(C) = (D) g4 ®Ig &
Budgetary control is nota .............. of management :-
(A) Function (B) Part

(C) Substitute (D) None of these
T RO §

(A) RerR (B) qd freriRa

(C) TITHE (D) SWRIe Tl

Effective controlling is —
(A) Static (B) Pre-determined

(C) Dynamic (D) All of the above

11



30.

31.

32.

33.

=T U gaIay Bl © —

(A) rferard CYEIERSED

(C) e (D) $1¥ & IS &
Control is a managerial function :-

(A) Compulsory (B) Necessary

(C) Optional (D) None of these
facg ugwy & —

(A) ®eT (B) fa=r

(C) well 3R fasi <= (D) 574 ®I$ el

Financial management is :-

(A) Art (B) Science

(C) Art and Science both (D) None of these
foxfrr yewres ol oar & —

(A) fa<ira (B) fafsrarT

(C) reT (D) STRIad ¥t
Financial manager takes decisions as to —

(A) Finance (B) Investment
(C) Dividend (D) All of the above
W ol &1 snaegdar fea @y & forg &l 2 2

(A) STTPHT (B) SrefepTel

(C) =T (A) 3iR (B) (D) &7 & BIg el

12



34.

35.

36.

Fixed capital is needed for which period ?
(A) Short Term (B) Long Term

(C) Both (A) and (B) (D) None of these

T &1 A AT 8d & —

(A) FeoTa= (B) wrwam afer it

(C) qaffrem afer (D) frenRa St
The cheapest source of finance is :

(A) Debenture (B) Equity Share Capital
(C) Preference share (D) Retained Earnings
FAAT LRAT BT HFIAT H JHR BIAT § —

NEIK: (B) @Rig &1

(C) faa @ (D) 5T | 31 7l
Equity shareholders have the right in the company to :-
(A) Vote (B) Purchase

(C) Sale (D) None of these

Al BT &g BRI Red § —

(A) feeet (B) ieTapre

(C) a=Te (D) s7¥ & &
Regional office of SEBI is situated in :-

(A) Delhi (B) Kolkata

(C) Chennai (D) All of these

13



37.

38.

39.

40.

fauor SragRon 8 —

(A) SeaTeTT (B) fasparrgeit

(C) g (D) 375 | 91
Marketing concept is :-

(A) Product oriented (B) Sales oriented
(C) Customer oriented (D) All of these

fIUOM e SaEROT BT 5 I T
INEIGES (B) 3mRRapT

(C) v (D) Star

The birth place of marketing management concept is :

(A) England (B) America

(C) France (D) Japan

fauor # wfeafora srar & —

(A) (B) faspa

(C) sosRTT (D) Sufert &
Marketing includes —

(A) Purchase (B) Sales

(C) Warehousing (D) All of the above

STE 3T (fAsh) &1 g9Ifad ax+ a1l oed & —
(A) fauor (B) Scurg
(C) forcira (D) 3

14



41.

42.

43.

The factors affecting product mix are :-
(A) Marketing (B) Production

(C) Financial (D) All of these

STl w9 faarel &1 fUeRT & dhdT 2
(A) 0 5 I BT (B) 0 10 g &1
(C) 0 15 <ITg &l (D) 0 20 <TG &1

District Forum can settle disputes :-
(A) Upto 5 lacs (B) Upto 10 lacs

(C) Upto 15 lacs (D) Upto 20 lacs

SOATFAT ARV AT & v ITHIaT JATPR 7
(A)6 (B)7

(C)8 (D)9

Consumer rights under Consumer Protection Act are :-
(A)6 (B)7

(C)8 (D) 9

IR Serfiar e e Red @

(A) SrEwaTaTe (B) Ta%

(C) =g faeeft (D) a=T¢

Entrepreneurial Development Institute of India is situated in —
(A) Ahmedabad (B) Mumbai

(C) New Delhi (D) Chennai

15



44.

45.

46.

47.

Safiar fhar g -
(A) ST @R (B) 9f amenRa
(C) qatg merRa (D) T ameRa

Entrepreneurship process is -

(A) Knowledge based (B) Intelligence based
(C) Forecasting based (D) Demand based
Al B —

(A) ST (B) 99T STl @

(C) (A) 3R (B) gt (D) 5% | PIg 7

An entrepreneur is —

(A) By birth (B) Made

(C) Both (A) and (B) (D) None of these

IR fAFRIRT dvs @7 U1 ARBR A Bl 7

(A) faelr # (B) 7eg U9 H

(C) #erTs: (D) ToTere #

Indian Investment centre was established by Government in :-
(A) Delhi (B) Madhya Pradesh

(C) Maharashtra (D) Gujarat

fomira HTed & o B —

(A) e oty (B) foR # wxeranl
(C) @i (D) SuRTaRT Wil

16



48.

49.

50.

Advantages of Divisional organisation are —
(A) Quick Decision (B) Ease in expansion

(C) Flexibility (D) All of the above

IS e & P’ YR § —

(A) ThaTHD HITS (B) fovria Hre=

(C) e He (D) & &4

Main forms of organisation structure are :-

(A) Functional Organisation (B) Divisional Organisation
(C) Line Organisation (D) All of these

gge foxir forarem @1 faRwang & —

(A) SRt (B) Txeiar

(C) fAcreatrar (D) T =

Characteristics of a sound financial planning are —

(A) Simplicity (B) Liquidity

(C) Economy (D) All of these
REIRER R

(A) SATET BT (B) 3R ATYR T
(C) ot SR @1 (D) TRHR

SEBI is controller of :-
(A) Production (B) Insider trading

(C) Capital Market (D) Government

17



51.

52.

53.

54.

@i Iy § Afedferd 81 & —

(A) sfer Iof (B) d T
(C) Foa Py (D) a7zt PR
Owner’s Fund does not include :-

(A) Share Capital (B) Bank Loan

(C) Reserve fund (D) Share Premium

RAERITA Yae # $IfAdl &I Forgdl & Il 8 —
(A) ®H (B) 31fere
(C) g™ ) EIEEZE

Wages given to workers in Traditional Management are :

(A) Low (B) High

(C) Normal (D) Maximum

TN Bald & Ua & Rigra € —

(A)5 (B) 10

(C) 14 (D) 16
Henry Fayol’s Principles of Management are —
(A)5 (B) 10

(C) 14 (D) 16

gl WAl BT ST B3Il o7 —
(A) SITaT (B) w1

(C) S+ (D) srIRaT

18



55.

56.

57.

Henry Fayol was born in —
(A) Japan (B) France

(C) Germany (D) America

I Uy & & —

(A) Sfrard (B) smawad

(C) vfeow (D) 377 & BIE
Control function of management is —

(A) Compulsory (B) Necessary

(C) Optional (D) None of these

IS &7 a9 HE9T 9 & —

(A) Zlo 9o (B) aafadira fasha
(C) fashu wde= (D) & HHuP
Costliest means of advertising is —

(A) T.V. (B) Personal selling

(C) Sales Promotion (D) Public Relation

SOHTGAT ARETVT ST & I STHIGT T § —
(A) STTGDH (B) SUHTaRIT

(C) forem == (D) 57 & ®1g &
Consumer court under Consumer Protection Act is :-

(A) Producer (B) Consumer

(C) District Forum (D) None of these

19



58.

59.

60.

61.

fguor fysror & wfdferd el § —

(A) T3 (B) sre
(C) Tr=ify (D) 3T
Marketing mix does not include :-

(A) Price (B) Product

(C) Promotion (D) Industry

ST faprg dRIHA U HYar & —

(A) SRISFTRY (B) ISHTR

(C) aEarft (D) weeram
Entrepreneurial development programme provides :-
(A) Unemployment (B) Employment
(C) Dishonesty (D) Corruption
A BT HAYYT Uciipl H G B Ufchar g —

(A) wrezH (B) TrTapIfET

(C) wfrgfe (D) femifen

The process of converting message into communication symbol is —
(A) Medium (B) Encoding

(C) Feedback (D) Decoding

o= & P9 GUNoT ufehar T ded A8 & ?
(A) fEapIfET (B) wisor

(C) |awr (D) HaT UT

20



62.

63.

64.

Which of the following is not an element of communication process ?
(A) Decoding (B) Communication

(C) Message (D) Receiver

Yo ud =T vy & uge § —

(A) g (B) arerT

(C) o (D) s & @I -7l

Planning and controlling are aspect of management :

(A) Twins (B) Separate

(C) Complementary (D) None of these
e 2 —

(A) FITSH BT AT (B) BHARI Ud=T & W
(C) ya=I BT HRI (D) T =+t

Staffing is :-

(A) Part of organisation
(B) Part of personnel management
(C) Function of management

(D) All of these

URIf BHeTRAT BT Wil BT 8

(A) B (B) Sy

(C) wrd (D) &7 & ®Ig el
Promotion of employees, is of recruitment :

(A) Work (B) Object

21



65.

66.

67.

68.

(C) Source (D) None of these

ST & GAD Hawd Bl f6d YR BT TR =iel YT =AMLY ?
(A) Sfera (B) srgfera

(C) = (D) 37 & BIg TEN

Every member of the organisation should follow which type of
communication channel ?

(A) Proper (B) Improper

(C) Both (D) None of these

JHA—ATHA AP HIAT B —

(A) HIRgs FRINoT (B) forRaa \ww=iyor

(C) < (D) 57 & ®TE 7

Face to face contact is :-

(A) Oral Communication (B) Written Communication

(C) Both (D) None of these

TS FaREred § gl &l ydTs 8idl § —

(A) TR BT 3R (B) @ 3R
(C) HHTd wR W) (D) 15 1

In horizontal communication, flow of suggestion is :-
(A) Upward (B) Downward
(C) At parallel (D) All of these

g RUe gargemen =T &1 8 —
(A) ord (B) ST

22



69.

70.

71.

(C) wired (D) 374 A PIg Bl
Quick reporting of effective control is :
(A) Function (B) Plan

(C) Organisation (D) None of these

=T Ufhar &1 U oROT 8§ —

(A) THTIT BT ferior (B) WY T Heihd

(C) Fra=or (D) &7 & BIg el

First step in control process is :-

(A) Establishment of standard (B) Evaluation of progress
(C) Control (D) None of these

foir ga=r &1 Jmygfah faameRT & —

(A) DY DI UTC BRI (B) ®INT BT SYINT BRI
(C) (A) td (B) s (D) T7H & BIS el
Modern approach of financial management is —

(A) Procurement of funds (B) Utilization of funds
(C) Both (A) and (B) (D) None of these
i gem &1 ReRITd [aRYRT & T e 1=y —

(A) 1910—20 H (B) 1920—30 H

(C) 1930—40 # (D) 31 & B =l

Traditional approach of financial management was discarded during —
(A) 1910-20 (B) 1920-30

(C) 1930-40 (D) None of these

23



72.

73.

74.

75.

A 2004 H IRA H whl [quidrl &1 G off

(A) 20 (B) 21

(C) 23 (D) 24

The number of stock exchange in India in 2004 was —
(A) 20 (B) 21

(C) 23 (D) 24

SefAar foas gRT JMeaRd BIdl & 2

(A) |erash (B) gESTHR HH
(C) 7z wH (D) @g wH
Entrepreneurship is ensured by whom ?

(A) Subsidiaries (B) Larger firm

(C) Medium firm (D) Small firm

Had fha Hrfrl ) oMk § ?

(A) 30 (B) 50
(C) 75 (D) 100
Sensex is based on how many companies ?
(A) 30 (B) 50
(C) 75 (D) 100
SUARTEARI & g &1 g 8 —

(A) T (B) faghar

(C) Scure (D) ST

24



76.

77.

78.

The collection of utilities is meant as —

(A) Purchaser (B) Seller

(C) Product (D) Market

=1 % | B I Fagiq far g 2

(A) T2 (B) wexd

(C) SdTg AT (D) =+

Which of the following is a sales promotion activity ?
(A) Rebate (B) Discount

(C) Product Combination (D) Al

Ubol dTell SUHITT SATGT R IdfoidT Jffard & —
(A) BB TP W (B) ¥ W
(C) (A) T (B) =i (D) 5% | BIg =&

Labelling is compulsory on packed consumer product for :-

(A) A few (B) All
(C) Both (A) and (B) (D) None of these
o § el sl @ e & -

(A) THRTHD (B) IhRIHD

(C) famreresry (D) &7 & ®Ig el

Role of foreign entrepreneurs in India is —
(A) Negative (B) Positive

(C) Destructive (D) None of these

25



79.

80.

81.

82.

= % 4 B9 A T T § ?

(A) TPIHROT (GNERIR

(C) g &1 faiRo (D) |t

Which of the following is an element of coordination ?
(A) Unification (B) Help

(C) Determination of time (D) Balance

Gire+ ufehar & @t fAfed g ?

(A) B BT fawre= (B) &1 BT FHEIHR]
(C) ®rd |igAT (D) & |+

What is included in organisation process ?

(A) Distribution of work (B) Grouping of work
(C) Submission of work (D) All of these
fr=forRaa & | @9 91 ugq faeH & foy Jeaqt § 2

(A) Frera (B) wiTe

(C) wafga™ (D) FrderT

Which of the following step is important in planning ?
(A) Decision (B) Organisation
(C) Assumption (D) Direction

IOIEHT & W S & —
(A) frare= (B) Gy
(C) Forafaror (D) & =T

26



83.

84.

85.

The main object of budgeting is —
(A) Planning (B) Coordination

(C) Controlling (D) All of these

o faar fd ATl 9=t © 7

(A) SuTaRTTS (B) gaxT fasaraii
(C) a1firaza ot (D) 99 9 Ig el
Wholesaler sells goods to whom ?

(A) Consumers (B) Retail Sellers

(C) Authorised agents (D) None of these

Saffdr & Seval ¥ aftafora g —

(A) T—fTare= (B) Fzrerdn faer

(C) RRrer wa yfreroy (D) T =+t

The objective of entrepreneurship includes :-

(A) Self planning (B) Skill development

(C) Education and Training (D) All of these

U IAE & Silad—dsh § faff=1 =R g —

(A) aR=ra (B) famra

(C) dra=far (D) I =+
Different steps in product life-cycle is :

(A) Introduction (B) Development

(C) Decreasing (D) All of these

27



86.

87.

88.

89.

FA—fdeee fdg R @ aFTd Hdd IRER 81 8 ?
(A) =T ARt (B) faspa Heu
(C) |l 3| (D) 379 & ®Ig T8l

What is equal to total cost on break even point ?

(A) Fixed cost (B) selling price
(C) Total revenue (D) None of these
uflteror 1 faferlt € —

(A) w=1erT (B) mear

(C) ufreromef (D) ¥ &

Method of training is/are —

(A) Conference (B) Lectures
(C) Apprenticeship (D) All of these
EEICINEDE L e

(A) RerR (B) qd freriRa
(C) TATHD (D) T =+t

Effective controlling is —
(A) Static (B) Pre-determined

(C) Dynamic (D) All of these
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90.

91.

92.

Budgetis .......... Statement of budgetary policy.
(A) Financial (B) Final

(C) Work (D) Non-financial

3Athdlg Ur;c*IH drel IS SIH SITd % —
(A) 3iaaTRe (B) siw=nRa
(C) Bl (D) fad=ipa

The organisation spreading rumours is called :

(A) Formal (B) Informal

(C) Centralised (D) Decentralised
QIS Jus &I AHTH @l Bl & —

(A) 3 e (B) 6 mEH

(C) 12 5™ (D) 24 wEH

The maximum duration of commercial paper is —

(A) 3 months (B) 6 months

(C) 12 months (D) 24 months
gdel B Fherd B UTIfie a8 —

(A) I HHART (B) sraferes Ysit
(GESIEISIE (D) T4 & ®Ig Tl
Primary element of success of management is —

(A) Satisfied employee (B) Large capital

(C) Big market (D) None of these
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93.  WRM® Uay & URddhdl o —

(A) BaTer (B) TR

(C)<a (D) &7 &1 ¢
The propounder of administrative management was —
(A) Fayol (B) Taylor

(C) Terry (D) None of these

94. fbedy WY Hired & Srfyuxon & —

(GVECIERRER ) ERIEEES

(C) R (D) 99T @ §qi]

In any organisation, motivation is —

(A) Essential (B) Unnecessary

(C) Burden (D) Wastage of time
95. TRl BT AT &xal § —

(A) ST aTeiR G ESRICRIEISIN

(C) mrfie qroTR (D) Yo7 AR

Creates Liquidity :-

(A) Organised Market (B) Unorganised Market

(C) Primary Market (D) Secondary Market
96. 9 # 9 P9 IuIGar IS Tl ® ?

(A) TTaT AT (B) NWIoRex
(C) gRrir Hfetat (D) o
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97.

98.

99.

Which of the following is not the consumer product ?
(A) Raw material (B) Refrigerator

(C) Old statues (D) Shoes

N Bl dIF o ?

(A) IsTTH (B) @@=+ 1fa=
(C) <remare (D) ScaTesT Sifrarer
Who was Henry Fayol ?

(A) Scientist (B) Mining engineer

(C) Accountant (D) Production engineer

qreel 3 S B AR YT & B T |

(A)2 (B)4

(C)6 (D) 8

The functions of management as per Koontz O’ Donnel are:-
(A) 2 (B)4

(C)6 (D) 8
ISP Ua7 B RS 83Tl ?

(A) 1913 (B) 1832
(C) 1903 (D) 1920
When scientific management was introduced ?
(A) 1913 (B) 1832

(C) 1903 (D) 1920
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100.

yg=y & RIgrdl &7 oA 59 UeR I & 9l 8 2
(A) TIRTRMTeAT (B) YgIapi @ 3rWd A

(C) UTehl & 9d | (D) HATST dATTh] gINT
How principles of management are created ?
(A) In laboratory (B) Manager’s experience

(C) Consumer’s experience (D) By social scientists

Tus—9 / Section-B

o STI Y3/ Short Answer Type Questions

U AT 1 W 30 P g IR & | 38 I Bl 15 Ul & SR S | U”AD U

& forg 2 o FeiRa §) (15x2=30)

Question no. 1 to 30 are Short answer type. Answer any 15 questions. Each

question carries 2 marks. (15x2=30)

1.

fehaTcHD FITS- oy & 2 2

What is functional organisation ?

Uy Pl A HIT & ° 2
What is the importance of management ?

“fRIST U AFRTS Ufshar 2 1 AHSSy | 2
“Planning is a mental process”. Explain.

fauor ug faspl # SR FHIfY | 2
Distinguish between marketing and selling.

B AIHNUT UG fAB~4IHROT B a9 3[R BT | 2

Distinguish between Centralisation and Decentralization.
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10.

11.

12.

13.

14.

15.

16.

Hag fAsror e drd € ?

What do you mean by Promotion mix ?

AenRes Td e AU H fAR HIFY |

Distinguish between formal and informal communication.
ferrror @1 ufshar @1 fadaer SRy |

Discuss the process of control.

YT FRETT HT Agd T © 7

What is the importance of consumer protection ?
o yaer @ g ?

What is financial management ?

s amifee gaid) 8 &9 ?

Advertising is social waste. How ?

U & HHTSTD RGNl Bl fad=a=r & |

Explain the social responsibilities of management.
ST DI Goreid fhardely T FAsT ST & ?
Why entrepreneurship is regarded as a creative activity ?
UfRTeroT | STY 9T WS § ?

What do you mean by training ?

Jgnfd yde & fagl <1 Rygial o garg |

State any two principles of scientific management.
FAY ST AT T AT H AR T N |

Differentiate between time study and motion study.
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17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

fISITaT & 31 gwTaermel a9 & forg gema Iy | 2
Give suggestions to make advertising more effective.
IARIBIVT & 37 BT A | 2

Explain the meaning of Liberalisation.

Tl & faf= 911 Gidl &1 Soold B | 2

Mention different external sources of recruitment.

IR UGl @1 SMTehdl Dbl YATIIT DRl Tl &l ford | 2

State the factors affecting the requirements of fixed capital.

BT TR URNETT qAT B W G IRl § 3R T N | 2
Explain the difference between on-the-job training and off-the-job
training.

gg=] H g BAT B ARG BT g B | 2

Explain the contribution of Henry Fayol in management.

fdee @ fo=sl a1 I &I 9dTsy | 2

Mention any two elements of Directing.
“g§Y U Al fa=i 2| by ? 2
“‘Management is an easy science”. How ?

fad~or AT 9 w7 U 8 7 2

What is meant by channels of distribution ?

AT Ieg bl T Ief g ? 2

What is meant by the word communication ?
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27.

28.

29.

30.

FT DIl AT Aheldl FARed HRdr & ? 2
Does mere planning ensure success ?

VAT T el Srdl & fb Uev & Rigra |rdyifis g ? 2

Why is it said that principles of management are universal ?

“foranall &1 YT Il USh @ Smavaddr dI & YHIfdd dxdl © 2 2

How “scale of operations” affect the requirement of fixed capital ?

“fahg Haga A= & g9l 9971 2 17 HY P 2

“Sales promotion makes advertising effective”. How ?

e Sa9g 939 (Long Answer Type Questions)

U9 AT 31 W 38 SY SN U 2| 398 A Pl 4 U & SR < | UAb YA

& g 5 o FEiRa §) (4x5=20)

Question no. 31 to 38 are Long answer Type. Answer any 4 questions. Each

question carries 5 marks. (4x5=20)

31.

32.

33.

34.

“fagod & @l gd g1l &1 9ol BIfTg | 5
Explain the merits and demerits of advertisement.

“HHY UG BT AR B |7 56 DU DT qUH BIQ | 5
“Coordination is the essence of management”. Explain this
statement.

o= yeer & faf=1 Ieedl &l gRAIa HIfoy | 5
Describe the various objectives of Financial Management.
FRIfITHROT ¥ o T T § 7 T I8 A G I B T AT

g7 5
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35.

36.

37.

38.

What do you mean by staffing ? Is it a part of Human Resource

Management ? Clarify.

YIRS | T AW 8 ? U bl IR fd=gail &l |Hssy Sl U

TS d USRS & Hgcd Dl SN hNd 8 ° 5

What do you mean by ‘Delegation’ ? Explain any four points which

high lights the importance of delegation in an organisation ?

fraeE @ 8 ? uev gRT o ufshar @t uMifad aRe arel dia—die
Jq TA E | 5
What is planning ? What are the steps taken by management to

affect the process of planning ?

A= &1 IIoR yuall &1 AT B | 5

Explain various money market instruments.
SR & el ufa IfIeRI & Iy | 5

Explain any five rights of consumers.
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